


FITTINGS SPECIAL

® FITTINGS SPECIAL PAGE 111







SUMMARY FITTINGS SPECIAL mrnEI-AljD
& WORK

PNEUMATIC

, © RL1 96 M7 @ EXTERNAL 9.95 PAGE 112
=
1 ©® RL34 96 1/8” STAINLESS STEEL PAGE 113
i ©® FITTINGS SERIE A SPECIAL PAGE 114
@,
q_ # =
we®
g © FITTINGS SERIE B SPECIAL PAGE 117
€939
T o
é © FITTINGS SERIE B WITH UNLOSABLE OLIVE PAGE 118
%’ | V ﬁ \“f
@
? &ﬁ, © FITTINGS SERIE C SPECIAL PAGE 120
- o

FITTINGS SERIE D SPECIAL PAGE 122

£,
1:“ A
£y
o

SUMMARY FITTINGS SPECIAL




RL1 ©6 M7 @ EXTERNAL 9.95

This fitting can be mounted on valve units that are 10 mm thick.
The pipe is retained by means of a brass clamp.

Code Description
11.9 2M01011 RL1 @6 M7 @ external 9.95

CH 4
o
10

~17.2

4

v
o
ol
2
Z
oz
[N )
5
[F N}
Q
~
=
0
Q
=
o




RL34 @6 1/8"” STAINLESS STEEL mmETA[@
&/ WORK

PNEUMAT

This fitting is ideal for corrosive environments, such as in washing
systems using detergents containing nitric acid.

The coupling is made of AISI 316 stainless steel, the plastic parts are
made of PBT and the gaskets of NBR.

Available also with black body and red release bush.

DIMENSIONS ORDERING CODES
Code Description
8826146 RL34 @6 1/8
18.1
I A
7, O ™
] Sl i L
2 A
o0
- e)
G1/8
214
NOTES

RL34 &6 1/8" STAINLESS STEEL




FITTINGS SERIE A
SPECIAL

A4/Z M3-M5 A4/Z 1/4-1/8 WITH OR
o7.4
M5 17 GI8
— . —
p o ﬁ
2 - © ‘ \ O-ring 2043
m, . ! ] (10.82x1.78)
O-ring 2.6x1 |

|

25.8 G1/4

Code Description Code Description

8000204 A4/Z M3-M5 8825965 A4/Z1/4-1/8 with OR
<
e A4/73/4-1/2 A4/Z1-1/4
&
<
w
oz
(o 536 G 1/4"
b T32 Gl1/2 E——
O
4 .
E - -

- IR 2 — 2
|
t
220
G 3/4
G1"
Code Description Code Description
2151007 A4/Z3/41/2 2151008 A4/71-1/4

NB. Not nickelled




ATN\METAL
&/ WORK

PNEUMAT

A5/Z 1/4-1/4 WITH OR A7 M5 WITH HOLE @1.5
=i G 1/4 28
e 025
[ce]
2 L
5 [ o
° < \. O-ring 3.5x1.2
0 \_O-ring 2043 N
(10.82x1.78) ‘
e1.5
G1/4
L zlek i
Code Description Code Description
8825951 A5/Z1/4-1/4 with OR 8000205 A7 M5 with hole @1.5
NB. Not nickelled
A7 M8 A7 M12x1.5
o117
ol1.5
o o5
/7 |
‘0 \ . - \.O-ring
ol e ?8’;2(91 .78 ) 9.75x1.78
\
M8 ‘
M12x1.5
Code Description Code Description
8286772 A7 M8 8826326 A7 M12x1.5
A7 3/8 WITH HOLE @2 A8 1/8-M5
221
M5
o8
e =
—
. \ H
‘,ﬁ \O-ring g f
< 14x1.78 4"
EQJ G1/8
G 3/8
Code Description Code Description
8000206 A7 3/8 with hole @2 8204738 A8 1/8-M5

FITTINGS SERIE A SPECIAL




<
|
]
o
7]
<
|
oz
]
w
[%2]
O
Z
E
ey

M8x1
212.5

Code Description
8000207 A9 M8x1-1/4
NB. Not nickelled
155-
- I
o
o
™

10

Code Description

8000208 A10 G3/8-R1/4

220.5

G 3/8
221.3

Description
A93/8-1/2

20 5=

31

G 1/2

10

Description
A103/8-1/2




FITTINGS SERIE B mmErA[@
SPECIAL WUJORK

PNEUMAT

B1/Z 4/2-1/8 B1/Z 6/4-1/8
ﬁ/z 26/4
|
<10 = <12
. i
N S 8 =2
2 o
i | <
G182 a| | G/s
Code Description Code Description
8821206 B1/Z 4/2-1/8 8821201 B1/Z 6/4-1/8
<
B1/Z 8/6-M12x1.5 WITH OR NOTES e
&
[=a]
28/6 L
- (a4
&
»
4 ‘ e
| E
o
7 T §
. b
[ bl
OR 9.75x1.78 7 ) 3 ~
M12x1.5
Code Description

8826329 B1/Z 8/6-M12x1.5 with OR




FITTINGS SERIE B
WITH UNLOSABLE OLIVE

These are series B fittings in which the olive is caulked onto the nut fo
prevent it from getting lost when the nut is unscrewed.

B1 B2

Ch1

Code Ref. @ F Ch Ch1 P L | Code Ref. @ F Ch Ch1 P L |
2201101 BI 4/2  1/8 10 10 8 275 16 2202101 B2 6/4 1/8 14 12 7 285 15
2201102 BI é/4 1/8 12 12 8 28 14.5 2202102 B2 6/4  1/4 17 12 8 315 18
2201105 BI 8/6 1/4 14 14 11 33 195 2202104 B2 8/6 1/4 17 14 8 32 18.5
2201107 BI1 10/8 1/4 17 19 1 385 20

[N N}

=

o) B3 B4

(W)

=)

<

%)

O

z L L

i Ch1 Ch Chi ch

=

: fr

[=a]

: | B e o

[NE}

& AR U=

w

O I

Z |

E

[V
Code Ref. @ Ch Chi L | Code Ref. @ Ch Chl L |
2203102 B3 6/4 12 12 36 9 2204101 B4 6/4 14 12 53 26

2203103 B3 8/6 14 14 39 12 2204102 B4 8/6 16 14 56 29




ATN\METAL
&/ WORK

PNEUMAT

B5 B6

Ch Ch1
Al

Ch1
ﬁ
ﬂ

!
Code Ref. @ F Ch Chl P L L1 | Code Ref. @ Ch Chl L |
2205102 B5 6/4 1/8 9 12 8 16 22 8.5 2206101 B6 4/2 9 10 215 10
2205103 B5 /4 1/4 11 12 1 20 235 10 2206102 B6 6/4 9 12 22 8.5
2205104 B5 8/6 1/8 1 14 8 17 24 10.5 2206103 B6 8/6 11 14 24 10.5
2205105 B5 8/6 1/4 11 14 11 20 24 10.5
B7 B8
L
Ch1 L1
> F
U
» -/ at’ I _ w
Ch =
Ch
Code Ref. @ F Ch Ch1 P L L1 | Code Ref. @ F Ch Chl P L L1 |
2207101 B7 4/2  1/8 9 10 8 16 21.5 10 2208101 B8 6/4 1/8 9 12 8 385 22 8.5
2207102 B7 é/4 1/8 9 12 8 16 22 8.5
(IN)
=
B9 B10 o)
(NN)
o
<
%)
Ch1 Ch Q
2 Z
AT‘ T Z
] . | =
=
— — o
» Ch1 — 3‘ L
i u &
:
2
| i F1 %
— B
[
Code Ref. @ Ch Ch1 L | Code Ref. @ Ch1 L F
2209101 B9 4/2 9 10 215 10 2210102 BIO  6/4 12 11.5  10x1
2209102 B9 6/4 9 12 22 8.5 2210103 BI1IO0 8/6 14 13 12x1

2209103 B9 8/6 11 14 24 10.5




FITTINGS SERIE C
SPECIAL

—_—
<
|
e
o
w
()
L
oz
L
w
w
O
Z
E
s

C1 6/4 M12x1 CONICAL

€2

~

(o}
Code Description
2353002 C1 6/4 M12x1 conical
C1/Z 8/6 M12x1.5

27

O-Ring 3037
(9.19x2.62)

Code Description
8826363 C1/Z8/6 M12x1.5

Q
~
o~
_ g
M1 2>‘('| .25 con
Code Description
2353001 C1 6/4 M12x1 conical
C5 6/4 M12x1.25 CONICAL
22
“c12 “c12
|
<
4 303
N
[ee)
T
o
M12x1.25 con
Code Description
2354001 C5 6/4 M12x1.25 conical




PNEUM TIC
C5/F 6/4 M12x1 C5/F 8/6 M12x1
23 23
“c12 “Cc14
(I
3 ; E E
| 0
M'1 2x1
Code Description Code Description
8826539 C5/F 6/4 M12x1 8826524 C5/F 8/6 M12x1
C98/6-6/4 C910/8-6/4
214 ﬁnﬁ ECALCAE rﬁ
© @l ‘
3o fH= s gL
= <
<12 \ 2
23 23
26/4 26/4
Code Description Code Description
8260401 C98/6-6/4 8849208 C910/8-6/4
NOTES

FITTINGS SERIE C SPECIAL




FITTINGS SERIE D
SPECIAL

—_—
<
O
[T}
o
72}
[a]
)
=
L
%)
n
O
Z
E
[N

D8/3 1/8 WITH OR

61

G 1/8

Code Description
8045526 D8/3 1/8 with OR
NB. For models R28-R29
D12 1/4 M12x1.5
25.5

17

216.7

1/4

218

Code Description
8826330 D12 1/4 M12x1.5

L
:@ 17 V Rondella in Nylon
o ‘ ﬁm
o
z’
i =2
© ‘
—
M12x1.5
Code Description
8294629 D8 M12x1.5 with washer

NB. For models R13-R14-D5-D6-D12-D17

D17 (UNLOSABLE OLIVE)

Code Ref. @ F ch1 L L1 E
2417103 D17 6/4 1/4 12 17 28 18




ATN\METAL
& WORK

PNEUMATIC




	FITTINGS SPECIAL
	summary fittings special
	RL1 ø6 M7 ø external 9.95
	RL34 ø6 1/8” Stainless Steel
	fittings serie A special
	fittings serie B special
	fittings serie B with unlosable olive  
	fittings serie C special
	fittings serie D special





